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	Page
	Location
	Currently
	Should be

	68
	Under Solution
	“estimate the likelihood of completing the prototype computer with the 35 weeks.”
	“if the prototype computer can be completed within 35 weeks.”

	74
	Exhibit 3.11

Last three rows
	Path

ABCD  (three rows)
	Path(s)

ABD

ACD     (two rows)

	139
	Top of page
	Probability associated with 15,000 in the table is 0.5
	0.2

	313
	Last sentence
	"... which is true if the process is only running somewhere within one sigma of the…”
	“which is true if we assume that our process is only running somewhere within 1.5 sigma of the ..."

	330 and 346
	Formula 9a.2
	N
	Standard deviation should be divided by N-1

	346
	Formula 9a.2
	X in the formula
	X- bar

	393
	Exhibit 11.5
	Change Thousand Oaks shipping volume from 45
	450

	411
	In the equation for “k”
	"Expected demand during time"
	"Expected demand during lead time"

	411
	The definition for L,
	"Lead time to replenish an order (expressed in the same units as demand)".
	"Lead time to replenish an order (expressed in the same time units as demand)".


